Prueba de escritorio del
algoritmo de seleccion
n=4

Sentencia

Inicializacion

i=0

i<n-1 - 0<4-1 - 0<3 - true

menor = arreglo[i] -~ menor = arreglo[0] — menor = 48
cual=i - cual=0

j=i+1l - j=0+1 - j=1

j<mn - 1<4 - true

arreglo[j] < menor — arreglo[1] <48 — 45<48 - true
menor = arreglo[i] — menor = arreglo[0] — menor = 45
cual=j - cual=1

j++

arreglo[jl < menor — arreglo[2] <45 - 14 <45 - true
menor = arreglo[i] — menor = arreglo[0] — menor = 14
cual=j - cual=2

j++

arreglo[jl < menor — arreglo[3] <14 - 71<14 - false
j+H+

j<n - 4<4 - false

temp = arreglo[i] — temp = arreglo[0] — temp = 48
arreglo[i] = menor - arreglo[0] = 14

arreglo[cual] = temp - arreglo[2] = 48

i++

i<n-1 - 1<4-1 - 1<3 - true

menor = arreglo[i] — menor = arreglo[1] — menor = 45
cual=i - cual=1

j=i+l - j=1+1 - j=2

j<n - 2<4 - true

arreglo[jl < menor — arreglo[2] <45 - 48 <45 - false
j+H+

arreglo[jl < menor — arreglo[3] <45 - 71<45 - f{false
j++

j<n - 4<4 - false

temp = arreglo[i] — temp = arreglo[1] — temp =45
arreglo[i] = menor — arreglo[1] =45

arreglo[cual] = temp - arreglo[1] = 45

i++

i<n-1 - 2<4-1 - 2<3 - true

menor = arreglo[i] — menor = arreglo[2] — menor = 48
cual=i - cual=2

j=i+1l - j=2+1 - j=3

j<mn - 3<4 - true

arreglo[jl < menor — arreglo[3] <48 - 71<48 - false
j+H+

j<n - 4<4 - false

temp = arreglo[i] — temp = arreglo[2] — temp = 48
arreglo[i] = menor - arreglo[2] = 48

arreglo[cual] = temp - arreglo[2] = 48

i++
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